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gl rT - 42

qftqtsqr ?F-t qrq :- E!.rE qrlcfd ti froqqofrowoqr{o d 3T-f,.ff, e-m-flrtd t slcrq@T(1o
ooo ft;fr0) iro *es qT.f ig etrFta ar .fi (rs.zao to) fr sTfr[io. Eentv"r olqrffi-dq

e.l

J

\'

i

m'odo o-rd o-r qm E-6T-{
{o.{ qr

(so) frq

1 2 3 4 5

1 rr-d 1'd {M6d 18.28 116"40 2121.79

2 &ir of rr-Er$ (sr.fi o-erq elr,f{) 18.28 700.80 128t0.62

3
orfuq +{rd e-d 1u.p1,T) B+ qnfts1 qfr to ot
_fq{ €: 84 x 18.280 B0: 1535.52 qC frO

1535.52 406.80 624649.54

4
TdT w sro s{-{eroT qa- *rtr6"T *g 6A
qra-era) 6T fuqflT vs 3Fq gffio otd tg
Hqsrr{ (Wl)

L/S 11000.00

5
rsd qo-r (0.30 x o.3o x o.4s) looo qfr to
.r-.sd 18280.00 8.80 160864.00

6 fr-frer"r efuqT qfir 18280.00 582.00 10638960.00

7 dd of otq-d (qarq.rS) 18280.00 8.44 154283.20

I
Grq qq +i\ {, trrq. ei-dri to orfl gq
ord w qq L/S 10000.00

I er;q ord L/S 14000.00

zil{ - qarq qtut
I I 62869s.15

Bfrq zwr

1 { .sdt q{rt o-rd (0.:o x o.3o x 0.45) 18280.00 1.38 25226.40

2 d$ ot eh-ir (G-fis sd) 18280.00 1.38 25226.40

3 fru gair ord 18280.00 t.6 I 140207.60

4 dtr tqrT q enoffi€ 18280.00 2.41 45151.60

5 frqT{, 5.€r{ q qftirr (<i eTq) 18280.00 1.82 33269.60

6 {crq q qqi sq qq sfr d-o-sT dqT L/S 15000.00

7
lprq C t Eeilt[q"T of Q_s-t-s s rq{srs s{
@-q 18.28 5721"60 r04s90.85

B 8.1 gertvurMfdsrf,.fd

qd sTs-W R-q iqilrpfl-f, q<rsfr 6-r rsnr qfr
io L8.28 420.00 7677.60

8.2 g{eTr f,fflsr/t{els d qrs{ + ,fi-cs 61 uefr
{{m o-iql 1.8.28 270.00 4935.60
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8.3 EeTrtqur d dFrrfud Eti srd Trfur 6)
eiE grer qnrt-o-dr *g qRTer"r dqr Grh E{eil.t s-ffiq 6Td tg qfrc-qiZrrfrM ol

ffiotlri

er - qfueror 18.28 480.00 8774.40

78.28 240.00 $87.2A

I

cr'tr arr r{rfi q)€, du gar.+ tg ffi, g-d-ft,
+ft orTR zno gentw d vrq-q ssi t {4i tg
dt-fr?i-{ qfte o-q qS fr d-fi-{ elr q)-+flqt

ktrc {flftq @Tztr 6) eql-{-tr{]ls qq gf,qtapTq

elft oiq i

18.28 840"00 153s5.20

sFq 6rd L/S 14000.00

*q - Bftq qs"r
443802.45

Eq zhr sam gti Efi-q an"r 12072497.60

Efrq e-{"r

I
trrr sd d sqrt< q:rq os {q{sn s Grg{e{nT

ord rz qrg 18.28 8582.40 156886.21

2
z.r geltw H d orflrfd r1d qnr-q5 gs

E-fl{yftd qilatT oi rsr-ai sfr to 18.28 420.00 7677.60

2.2 Eqeil *{ri d srf,r 4 fto qr-& trtw'o-$rT, 2
s genri+"r t m+ilftrd *i q-rd utri *) urno
gqeTr qrrs?hdr tg qRTer"T nen erFc g-rerT fr

s-e+qftq oTd tg 
ffir*Utr 

@\ dffiE{
18.28 270.00 4935.60

GI - qfu&rri 18.28 480.00 8774.40

18.28 240.00 4387.20

3 erq o-rd L/S 14000.00

Eilrr - Efr+ a-w 196661.07



\Lq
q$ef q-{ur

1
iqrT sd d sqsrm Bdrq q{ {s{srq s GE{etur

md rz era 18.28 8582.40 1s6886.27

2
2.1 g&Tr*qur eH d"orf,rfd qd qnr-q:Sr g*

qmqvf-c{ q{ierT oi s-erql cfr to 18.28 420.00 7677.60

2.2 Eseil +fl{ d qrf,{ 4 fto q.c& Hrw o-{lr, 2

s geniwr t dnrfuf, *i srd ur$uird GrFc

g{eil qrrrffDnr & qPrer"T nen 3TFq trTen tvffiq oTd *g qfufZrrftM C q\-*lrr{
e-rT

18.28 270.00 4935.60

GI - qRieror 18.28 480.00 8774.40

18.28 240.00 4387.20

3 3Fq.fld L/S 14000.00

rr}.r - agef aw 196661.07

qaq qgq-

I
ilqrT sS S sqsr< q-fis s{ {s{srs s 3Eqelur

ord rz qt6 L8.28 8582.40 156886.27

2
z.r Eeritw eH d Grf,.fd qd qrrr-.F5 1's

q€-{cftd qsTef o) aerqr qfr to 18.28 420.00 7677.60

2.2 g{eil fr-sn d srtrq 4 fro r.g& vrTE qr(qr, 2

a gen$w t flrlrfr--d E)-i srd urtrr tn\ Grtr{

Eqeil qrrs.r"f,T tg cRTer"T oer orF{ r3-{e{r t
sdqfiq 6rd tq qfufZe-frfut @) *cqTE{

trT

78.28 270.00 4935.60

or - sRrerq 18.28 480"00 8774.40

q - *€fl-f,{ 18.28 240.00 4381.20

3 ee-.q o-rd L/S 14000.00

d.r - {qq qqq 196661.07
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qe]T ilul"

1
ihrT sd d"sqqrq 

"-g.f 
q{ Tss{flq d Brj{etui

ord rz qrg 18.28 8582.40 156886.27

2
z.t gerrSw eH d orfl'fd qd urtr-W w

E-d-qRtq r{rPfr 6) rcrfl yft to 18.28 420.00

2.2 Eqeil +il{ d qrE-{ 4 .fi0 q-.c8 rrFD orqr,
s gertw t diqrfu-.f, Ei-i er-d qrffii 6) srtr{

G-rrwnf,I qRarot dqr ertr{ tEq&Tr ts E{Sn
o.rd qAilqT chlfq ze.Ftui !)-€rfi

til

18.28 270.00 4935.60

3{ - qRreTrT 18.28 480.00 8774.40

240.00 4387.20

3 srq 6"rd L/S 14000.00

mq - rrqrI q{oT
196661.07

qqrIl wur

1
ttq"T qd d w{T<- q-dq qd TqtgIq s Gm{eTlT

otd rz qrr 1_8.28 8582.40 156886.27

2
z.r gerrtw H d erfl.fd qd eTs-.F^rr g-s

wil{qtrd q- r?fr o\ rEnr efr to 18.28 420.00 7677.60

2.2 E{qTr fr+tr d qrf,{ 4 fro q-.c8 HTs'6wr,
s Eerr)uur t orriifud +i st-d fift.ti oi.rno

qrr$tFm qRIH"lEftil' osTi ortr{ tts Eq&rT
o.rd qfrf,-q) o)ts /HfrfuI

t{r

18.28 270.00 4935.60

er - s-RreloT 18.28 480.00 8774.40

18.28 240.00 4387.20

3 erq ord LiS 14000.00

zhrr - TIqq q{ur
196661.07
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1

tqrT q{ d sq-{r< qgq q{ Ts{qrq s ergftrrr
oizi rz qrd L8.28 8582.40 156886.27

2
2.1 geiltqq H d or<.fd rtd qrs-wS gq

r<isfr @1 r-erqr qfr to L8.28 420.00 7677.60

2.2 TJqelT fiqri d sr6{ 4 fro q-a-E HFD 6t=rT, 2.

a gerl,vtw fr dlTrfuf, di or-d flmqil C artr{

Evq{r qFr$rnf,r & sRTeflT opn eiFc E{eil i
s-cffiq eTd tg qffifZ$mmqi o\ d-dlr6q

d-{r

L8.28 270.00 493s.60

el - sRTer"r 18.28 480.00 8',774.40

q - frffiEc 18,28 240.00 4387.20

3 31q ord L/S 14000.00

s)n - orerl T{q 196661.07

T{q qwr

1

i)q"r s{ d sqfl<. gro=r qS {rrwnq s GrJq&t-oI

ord rz qre 18.28 8582"40 156886.27

2
z.r gar*vor e)d d 3mr.fd qd q-i{-W{ 1'q

E-d-{YflE qflaf o1 rer-+ qfr to 78.28 420.00 7671.60

2.2 gqerT A-{r d qr6{ 4 fro q-.r8 HrF o-Eqr, 2

: Eentwr t drqTfuo *i sre urtrr oi Grtrr

E{en qFrsenT & qRTe{'T oen eiFc E{erT i
s-effiq oTd tg tqhn-q\Z1r.fi-frrqT @i fidilE{

trT

18.28 270.00 493s.60

BT - qPreTol 18"28 480.00 8774.40

1.8.28 240.00 4387.20

3 erq o-rd L/S 14000.00

zil.r - TfiI q{ut

^IV
196661.07
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gqrrti,lq rrq Sik.r. qT'

"+,{q'f4fi EfE H+11;i "--is;iliffi
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EEFI T{UT

I

ic"T qS d swir.f, orEq a{ Tq{Ertr s oEq&TUr

o-rd rz qrs 78.28 8582.40 156886.27

2
z.r gertw ffi d sr-f,.fd rld sTrr-qn Ts

qtr{vflE cErtfr 6) re-r+ qft to L8.28 420.00 7677.60

2.2 g{elT fiota d'sr6{ 4 fto qr,A rrt-n 6FIT. 2

s Eertv"r t flqTfud *i Erd ,rfuf o\ sltrq
gq&lr iflrrr$"Ff,T & uRTeror oqr erFc ErerT t

vffiq ffi{ tg qfudfZvifrfui an *-oFTe-{

t.{I

18"28 210.00 4935.60

s{ - gRTe{"r 1-8.28 480.00 8774.40

q - s)-ffiEq 18.28 240.00 4381.20

3 qq ord LiS 14000.00

qh - qYFI q{ur 19666r.07

qd fr.I * 13645786.1 8
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